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65.8 + 13.8 =  79.6

2.49 + 1.37 =

4.29 + 4.57 =

29.18 + 18.66 =

12.934 + 23.779 =

422.4 + 39.6 =

1.1 + 6.4 =

1.5 + 1.2 =

3.2 + 1.5 =

15.36 + 48.29 =

28.23 + 28.61 =

3.67 + 4.63 =

57.32 + 18.31 =

37.59 + 26.14 =

1.28 + 1.12 =

170.26 + 236.76 =

2

4

6

7

10

11

15

16

1

3

5

8

9

12

13

14

1Addition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.PuzzleAddition.Puzzle
Complete the cross-word puzzle with the answers to the addition problems below. Remember, a decimal 
point counts as one cell. Use scratch paper if necessary for showing your work.
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ANSWERS

3.86

8.86

47.84

36.713

7.5

2.7

4.7

63.65

56.84

8.30

75.63

63.73

2.40

407.02

462.0
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